SE19%A BAERY —7 280

AE
RIEE TOHER 1 [E]E 2 [a]Ef 3 [a]Ef F2HRTHA
EF4A JEGL R (e Bz B E3= B3 25 EF= oA EF= N5z 52 JERLsR/NEE | BRI RAET | BAEIBGL] RANK
B ME— 10 10 6 -2 2 61 5 -14 2 9 19 10 6
HE B2 4 17 17 -1 3 17 3 135 5 11 15 17 10
EA #= 7 2 11 -3 0 -64 o] -148 0 0 7 20 19
RE EE& 5 8 16 6 5 -14 2 27 3 10 15 8 9
5T 0 0 0 0
B
RIEE TOHER 1 [E]E 2 [a]Ef 3 [a]Ef F2HRTHA
L NEfE S | BARIELE| WA e IB A e IB s Fa | BRI | IERANE | IERAAE |BARIESI] RANK
AKX 2 6 5 13 126 5 -6 2 113 5 12 18 5 7
Pk HF 0 12 20 -90 0 -125 0| -126 0 0 0 12 20
E X#H 9 1 9 -24 2 84 5 57 3 10 19 1 5
AR F 2 13 19 -12 3 47 3 -44 2 8 10 13 17
it 0 0 0
CE
FE % CORE 1EH 28 SEE e
EFL WEG A | SR IESE| B B BB e BB FA | IEfEA | BRI | IEGISAE |#IEIERT] RANK
Punt:s b 4 12 3 2 35 5 90 5 -1 3 13 25 3 2
BEXR EF 10 18 8 -17 2 -58 0 -46 2 4 14 18] 11
T & 10 14 7 -51 0 -6 3 -66 0 3 13 14 14
BA E= 3 16 18 33 3 -26 2 123 5 10 13 16| 15
B 0 0 0
DE
FE % CORBE 1EH 28 SEE e
EF4 JBGLs [ IBfz| B EI5 oA EJ5 B4 52 E3a B4z 4L g5 /NET JEfI &5t | BAEIBESGL] RANK
BHE £l 6 6 14 -122 0 77 3 -55 2 5 1 6| 16
H0O H%5 10 4 5 106 5 81 5 84 3 13 23 4 3
FE BF 6 20 15 32 3 -144 0| -143 0 3 9 20 18
Kff s &H 7 19 12 -16 2 -14 2 114 5 9 16 19 8
e 0 0 0
Es
RIEE TOHER 1 [E]E 2 [a]Ef 3 [a]Ef F2HRTHA
EFA JEGL R [HAEIEsz] B E3= oA EF= B4 52 E3= JIB15L 52 JERLsR/NEE | BRI AR | BAE B RANK
K B2 8 11 10 183 3 -54 2 -63 0 5 13 1| 13
KEN £XK 11 7 3 231 5 131 5 92 5 15 26 7 1
Ll ALY 13 15 1 -123 2 32 3 -14 3 8 21 15 4
KA E& 1 9 4 -291 0 -109 0 -15 2 2 13 9 12
it 0 0 0




